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*S”‘Ppo:t We Gre Given & curve C

defined hy (Xft), \l(tr) for Geteh,
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To define J'F(x,y“{s ,
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Ex. Compute f 1 ds 4 j % .
C, ¢,

where C‘.-. parnkolu are
Y= xt ‘from (0 o) to (l‘l]‘ ond

wherve Cz is the J‘frai,ld' pa%h

from (1,10 to (0,1



w here CI is the ..Sfrao‘gkl

path fram ¢1,0) te (o, 1).

Thus ;C‘.ﬂlf- <"‘.,*1>
ond ﬁzﬂﬂ (1,1) » t(1 0)

= (1-t,1)
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We ctcan descrehe Hve iniejrd

of a function alon§ a curve by
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(%,¥)ds = ( V d dy
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C a f

dt
The value of the line integral

does not depena on the

parameterization, provided

thaot the curve s traversed
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Ex Let C be +he curve
satisfying y=x¥  [xt £ 2

Assume the density depeul.(

on the curve, say pz Y-Y

X= t ¢ Aegr= (4,2
= . Y=
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We can veplace As; by
A!;: X;-%X;., ar
AY; ¥ = Yia

Then one obhtains
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Line In‘leﬁrals " épace l

Ju”:o.u 6 Lbvve C s yiven by

X=xf¢) Y= y(er , 2= 20,
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Ex. Evealvate the line c’nlegrcl

I Ydx - 3xdy |
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